ey ?’ 3 (b)  Anplane is inclined at an angle 45° to the horizontal. A particle is projected up
the plane with initial speed u at an angle & to the horizontal.
The plane of projection is vertical and contains the line of greatest slope.

The particle is moving horizontally when it strikes the inclined plane.

Show that tan&@ =2.

r
k= 0
0 = usin(@-45)¢ —Lgcosds.t?
2usin(8—45)
Shos Qe P A - ’
gcos4s
v, = ucos(@-45) — gsin4s.t
=ucos(@-45) — gsin45_[MJ 5
gcos45
=ucos(@—45) — 2usin(6—45)
Vi = uSi]’l(Q—45) — gcos45_f
=usin(9745) = gcos45{w) 5
gcos45
= — usin(@—45)
Landing angle =45° = tan45 = i
vf
B usin(@ - 45)
_ucos(6745) — 2usin(@ - 45)
usin(9—45)=ucos(9—45) — 2usin(9—45)
tan(9_45) é :
tand—1 1
l+tan8 3
3tanfd—-3=1+tand
- 5
= tah =2 i
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